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F=10«H, M =7 xHwm, cosa = 0,8.
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F=17«H, M = 3 xHwm.
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F=5«xH, M =2 xHwm, cosa = 0,8.
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F =29 xH, M =4 xHwm.
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F=5«xH, M =4 xHwm, cosa = 0,8.
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F=3x«xH, M =10 xHwm.
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F=4xH, M =8 xHwm.
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P =6x«H, F =15 kH, M = 6 xHuwm,
cos o = 0,8.
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F=3x«xH, M =8 xHwm.
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F=3«xH, M =3 xHwm.
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F =11 xH, M = 44 xHwm.

3amaua S-24.12. M

%)_AC
& 1
cr
1 2 ‘ 2

F=5x«xH, M =3 xHwm, cosa = 0,8.
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F=3«xH, M =8 xHwm.
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P =12«H, F =15 xH, M = 12 xHwm,
cos o = 0,8.
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F=5xH, M =5 xHwm.
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P =12xH, F = 15 xH, M = 12 xHuwm,
cos a = 0,8.
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P =6«xH, F =15 xkH, M = 6 xHwm,
cosa = 0,8.
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F=2xH, M =6 xHwu.
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F=5xH, M =3 xHwm, cosa = 0,8.
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F=5x«H, M =20 xHwum.
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F=5xH, M =8 xHwm, cosa = 0,8.
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3agaua S-24.22.
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F =5 «H, M; =24 xHwm, My = 75 xHwm,
cos a = 0,8.
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P=2xH,F=5xH, M =4«Hwm, cosa =
0,8.
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F =10 «H, M = 30 xHwm.
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P =6x«H, F =15 kH, M = 6 xHuwm,

cosa = 0,8.

3amaua S-24.26.

. 4 ‘ 4 2
F =5«H, M; = 2 xHwm, My = 60 xHu,
cos a = 0,8.

3amaua S-24.27.

. 5 ) 6 L2
F =5«H, M; =4 xHwm, My = 37 kHwm,
cosa = 0,8.
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1 A

F =5«H, M; =6 xHm, My = 78 xHum,
cos a = 0,8.
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F=5x«xH, M =8 xHwm, cosa = 0,8.

.3 8 L2
F =20 xH, M} =5 xHwm, My = 8 xHwm,
cosa = 0,8.
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Ne | Xy Yi | Xp Yp | Yo | M | Yp
1 | -6 |- —14 |7 1 |- -
2 |—-11]-3 | -6 |3 S -
3 | —4 |- 8 ) —2 | - -
4 | —-19|6 —-10| -6 |- |- -
o | — —13| -4 |5 11 | - -
6 | —2 -1 10 - | =6 |-
7|1 3 -1 |- |- -
8§ | —43 |22 |31 —19| - |- -
9 |—-1 |~ -2 10 - 10 -
10| =3 |2 0 -2 |- |- -
11111 |6 0 —6 |- |- -
12| -1 |- 5) 4 —1 |- -
13| -1 |- -2 |0 - | =16 | —
14 | 32 1 —44 120 |- |- -
5/-3 | -1 | -2 |1 - |- -
16| —11114 -1 |7 - |- -
172 14 10 1 - |- -
181 -2 |1 0 -1 |- |- -
191 -5 -9 |4 1 |- -
201 5 3 0 -3 |- |- -
21110 |- —6 |1 2 |- -
22 | —6 2 - 9 |- —6
23| =8 |5 4 e T -
241 —10 |1 0 -1 |- |- -
25| =7 |13 | =5 |2 - |- -
26 | —2 |- -2 |- 9 |- —6
27| 2 - 2 - —2 | - 5)
28 | 2 - 2 - 9 |- —6
29113 |- 3 - 4 |- 8
30114 |- 10 | —1 | —4 |- -
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